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320 | I——NHHE K2 2R 128.3 66.3 62 A3 13 i
321 [ I——XFHAFE X2 e - e 127.5 59.5 68 Ak 14 &
322 |HZI——XBHAFE X2 CRITRI 126.9 58.9 68 B 15 &
323 | I—— NS HE K2 Z= B 126.6 62.6 64 [ 16 P
324 |BBI—— N5 HE X2 [A] AR UK 123 63 60 B 17 v
325 | I —— NS HE X2 KB 120.8 69.8 51 B 18 &
326 | _I—— N HBE K2 JE PRV 120.4 66.4 54 A 19 o
327 [ ——XFHAFE X2 Bif $th 39T J2E SR RV 119 54 65 B 20 2
328 | I——XFHAF X2 B KGR A 114.8 56.8 58 AR 21 v
329 |FEI——NEHE X2 X 110.3 73.3 37 HR 22 =
330 | I——XS5HAE K2 L AT E] 110 45 65 ESR 23 o
331 | I —— NS HE X2 FH 8§ 108.6 63.6 45 HRL 24 &
332 | IM—— N EBE X2 W5 5 105.9 65.9 40 A 25 i
333 [ I—— NS HE K3 A3 AN 147.7 77.7 70 [ 1 2
334 BB I—— NS HE X3 FLFRAG 142.8 77.8 65 B 2 v
335 | I—— NS HE K3 L= 1413 66.3 75 A 3 2
336 | _I—— N HE K3 e 140.3 79.3 61 A 4 o
337 | I —— NS HE X3 Al 138.1 68.1 70 B 5 &
338 | I——XS5HE K3 gk L AS 135.7 77.7 58 B 6 o
339 [BBI—— B HE K3 R 134.8 54.8 80 AR 7 &
340 | I—— N HBE K3 T 134.4 59.4 75 A 8 i
341 [ —— X B HAFE X3 XI5 R 128.3 60.3 68 AR 9 &
342 | IM—— N EHE K3 XA 126.5 63.5 63 A 10 i
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343 |H Iii—— N HHH K3 e (sR2 1235 73.5 50 A3 11 i
344 |H I—— B HE K3 RIRTR 123 65 58 EEEs 12 P
345 | I —— N5 HE X3 MReRAT 122.3 66.3 56 B 13 &
346 | I —— NS HE X3 o T 119.5 64.5 55 B 14 &
347 | I—— NS BE K3 5 el bl 118.4 62.4 56 AR 15 3
348 | I —— N5 HE X3 Tt 115.6 60.6 55 B 16 &
349 | I —— N5 HE X3 T e 110.1 55.1 55 B 17 &
350 [ I ——XFHE K3 LR BR 3R 106.2 54.2 52 B 18 &
351 | CI—— XS HE X3 Ik 102.6 42.6 60 AR 19 v
352 |H Iii——3k X1 REIR 153.3 66.3 87 AR 1 2
353 |B I——3C R K1 Tt 147 80 67 A 2 o
354 | I ——3C kX1 L 1345 63.5 71 HRL 3 &
355 | I——3C R K1 R 134.1 63.1 71 A 4 &
356 | I ——3C kK1 X PR 132.7 66.7 66 B 5 &
357 | Iii—— R R 2 PR 129.7 58.7 71 B 6 e
358 |EE Ii——3 K1 FHEMN 128.9 60.9 68 EERY 7 &
359 | I——3C Rk K1 % 127.5 64.5 63 A 8 o
360 | I ——3C kK1 Gl SEnEr 127.2 61.2 66 B 9 &
361 | Ii——30 R K1 WA i 125.6 58.6 67 A 10 3
362 |5 I——3C kK1 e 1% 5% 124.6 58.6 66 AR 11 &
363 |[H I ——3CR K TigaE 124.1 56.1 68 B 12 &
364 | I ——30 kK1 BT 122 65 57 AR 13 &
365 | I ——3C R K1 £ BN 118.2 52.2 66 B 14 &
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P 5 BRAL P4 By | B EpUE G TS AL 4 | AR
366 |H I——3C R i1 B IIRBIRT 118 54 64 3k 15 i
367 |BE I ——30 R 7 ] 115.4 61.4 54 EEE 16 P
368 | Ii——30fk K1 3R 114.1 58.1 56 A3 17 i
369 |H Ii——3K i1 K2H 112.7 53.7 59 A 18 2
370 | I ——3Ck i sk IBRR 1125 52.5 60 B 19 o
371 | I ——3C kK1 VEpag L] 1125 44.5 68 B 19 &
372 | ——30 R K2 R 159.7 76.7 83 % 1 &
373 | I ——3C kK2 [T i 5% 150 81 69 B 2 &
374 B I——3CKk K2 ESHEEN 144.7 76.7 68 B 3 o
375 | I ——3C Rk X2 2R 139.8 76.8 63 H 4 &
376 |H I ——30 Rk X2 KK 131.8 68.8 63 B 5 v
377 | I ——3 k2 ¥ A [F] 119.7 51.7 68 HRL 6 &
378 | I ——3C R X2 A 118.8 60.8 58 B 7 &
379 | I ——3C k2 Rk 118.7 53.7 65 B 8 &
380 |HE I ——3 kX2 ZAFM 114.9 54.9 60 B 9 v
381 B I ——30 K X2 AT Bk 111.3 49.3 62 B 10 &
382 |EE Iii——3 Ak K2 AT 56 o 110.1 44.1 66 3 11 o
383 | I ——30AK X2 Pyl 108.5 59.5 49 EER 12 &
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